2) (onsider  $\alpha_1(1) + \alpha_2(2) =$  $\alpha_1 y_1 [n] + \alpha_2 y_2 [n] =$  $- \alpha_1 \sum_{k=1}^{N} \alpha_k y_1 [n-k] - \alpha_2 \sum_{k=1}^{N} \alpha_k y_2 [n-k]$ +  $\alpha_1 \sum_{k=0}^{M} b_k \chi_1 [n-k] + \alpha_2 \sum_{k=0}^{M} b_k \chi_2 [n-k]$  $= -\sum_{R=0}^{N} a_{R} \{ a_{1} y_{2} [n-R] + a_{2} y_{2} [n-R] \}$   $= + \sum_{R=0}^{M} b_{R} \{ a_{1} \chi_{1} [n-R] + a_{2} \chi_{2} [n-R] \}$   $= -\sum_{R=0}^{N-1} b_{R} \{ a_{1} \chi_{1} [n-R] + a_{2} \chi_{2} [n-R] \}$ 

If the system is linear, then  
that's exactly the ean we obtain it we  
input 
$$a_1x_1(n) + a_2x_2(n)$$
 into the system  
 $x(n) \rightarrow S \rightarrow M(n)$   
 $M(n) = -\sum_{k=0}^{N} a_k M(n-k) + \sum_{k=0}^{M} b_k x(n-k)$   
 $k=0$   
Let  $x(n) = a_1x_1(n) + a_2 x_2(n)$ . It S is linear,  
then:  
 $a_1x_1(n) + a_2 X_2(n) \rightarrow S' \rightarrow a_1 M_2(n) + a_2 M_2(n)$   
 $d_1M_2(n) + d_2 M_2(n) = -\sum_{k=0}^{N} a_k (n-k) + a_2 M_2(n-k)$   
 $h=1$   
 $h=1$   

If: 
$$y[n] = -\sum_{k=1}^{N} a_k y[n-k] + \sum_{k=0}^{N} b_k x[n-k]$$
  
 $\frac{1}{R=1}$   
 $\frac{1}{R=0}$   
Then:  $y[n-n_0] = -\sum_{k=1}^{N} a_k y[n-n_0-k] + \sum_{k=0}^{N} b_k x[n-n_0-k] (A_{R=0}$   
 $\frac{1}{R=1}$   
If the system is TI, then :  
 $x[n-n_0] - \sum_{k=0}^{N} y[n-n_0]$   
Such that this input output satisfies the diff. eqn.  
 $y[n-n_0] = -\sum_{k=0}^{N} a_k y[n-k-n_0] + \sum_{k=0}^{N} b_k x[n-k-n_0] (E_{R=0})$   
Due to the commutativity of additions  
eqns (A) and (B) are the same  
 $= \sum_{k=0}^{N} system is Time-Invariant (TI)$ 

Difference Eqns. with constant coefficients 5 are LTI Systems (DT) · Di+ference Eqns are used all the time in Practice for a variety of applications . They can be used as frequency selective filters (lowpass, band pass, highpass), notch filters, and many other useful functions · Since they are LTI, they are completely characterized by their impulse response as we will see in Chap. 2

Proof that DT System Described by  
Difference Equation is Linear and TI  

$$x, [n] \rightarrow \overrightarrow{J} \rightarrow y, [n]$$
  
 $y, [n] = -\sum_{k=1}^{N} a_{k} y, [n-k] + \sum_{k=1}^{M} b_{k} x[n-k]$  (1)  
 $f = \sum_{k=1}^{N} a_{k} y, [n-k] + \sum_{k=1}^{M} b_{k} x[n-k]$  (1)  
 $f = \sum_{k=1}^{N} a_{k} y_{2}[n-k] + \sum_{k=1}^{M} b_{k} x_{2}[n-k]$   
 $y_{2}[n] = -\sum_{k=1}^{N} a_{k} y_{2}[n-k] + \sum_{k=1}^{M} b_{k} x_{2}[n-k]$  (2)  
 $f = \sum_{k=1}^{N} a_{k} y_{2}[n-k] + \sum_{k=1}^{M} b_{k} x_{2}[n-k]$  (2)  
 $f = \sum_{k=1}^{N} a_{k} y_{2}[n-k] + \sum_{k=1}^{M} b_{k} x_{2}[n-k]$  (2)  
 $f = \sum_{k=1}^{N} a_{k} y_{2}[n-k] + \sum_{k=1}^{M} b_{k} x_{2}[n-k]$  (2)  
 $f = \sum_{k=1}^{N} a_{k} y_{2}[n-k] + \sum_{k=1}^{M} b_{k} x_{2}[n-k]$  (3)

## <u>Example</u> $(\mathbf{6})$ Hmuk. Prob. 1.18 MEN=Z x[k] R= n-no This is a difference eqn. It's just [see non-recursive $(a_{R}=0)$ and non-causal (70) . So it's LTI. But we'll prove it anyhow (a) Linear? Inputting X, [n] and X2[n] individually we have: n+h. $(1)_{y,[n]=\sum_{k=n-n}^{n+n}\chi,[k]} (2)_{y_2[n]=\sum_{k=n-n}^{n+n}\chi,[k]}$ R=n-ho $a_1 \underbrace{y}_1 \underbrace{(y)}_1 + a_2 \underbrace{(y)}_2 \underbrace{(y)}_1 = a_1 \underbrace{Z}_{X_1} \underbrace{(k)}_1 + a_2 \underbrace{Y_2} \underbrace{(k)}_2 \underbrace{(k)}_1 = a_1 \underbrace{Z}_{X_1} \underbrace{(k)}_1 + a_2 \underbrace{Y_2} \underbrace{(k)}_2 \underbrace{(k)}_1 + a_2 \underbrace{Y_2} \underbrace{(k)}_2 \underbrace{(k)}_2 \underbrace{(k)}_1 + a_2 \underbrace{Y_2} \underbrace{(k)}_2 \underbrace{(k)}$ $a_{1}(1 + a_{2}(2) =)$ h=n-no

R=n-no

Rearranging: Kearranging:  $n+n = \sum_{x,y,y} \{a_{x}, y_{y}, (n) + a_{y}, y_{y}, (n) = \sum_{x} \{a_{x}, x_{y}, (-k) + a_{y}, x_{z}, (-k) \}$ f=n-no If the system is linear, that's exactly the equation we would obtain it we input x[n]= d, x, [n] + d2 x2[n] into the system i.e, it S is linear:  $\alpha, \gamma, (n) + \alpha_2 \gamma_2(n) \rightarrow S \rightarrow \alpha, \gamma, (n) + \alpha_2 \gamma_2(n)$ . which, in turn, dictates:  $a_1, y_1, (n) + a_2, y_2(n) = \sum_{n=1}^{\infty} (a_1, \lambda_1[-k] + a_2, \lambda_2[k])$ h=n-no and we already proved that this eqn. holds => system is linear

Side=note: 
$$y[n] = \sum_{k=n=n_0}^{n+n_0} \overline{(n)}$$
  
 $k=n-n_0$   
Change of variables:  $k'=-n+k$   
 $k'=k-n$   
new limits on sum:  
 $n+n_0 = -k'= \begin{bmatrix} n+n_0-n=n_0\\ n-n_0-n=-n_0 \end{bmatrix}$   
 $h=n_0$   
 $\sum_{k=-n_0}^{n+n_0} x[n+k']$   
 $\sum_{k'=-n_0}^{n} x[n+k']$   
 $\sum_{k'=-n_0}^{n} x[n+k']$   
You could do another change of variables  
 $k=-k'$   
to obtain  $M[n] = \sum_{k=-n_0}^{n} x[n-k]$ 

. .

• Is System TI? First, note: since no is (?)  
used in system equation, use 
$$l$$
 for time-shift  
in input signal:  
 $\chi[n-l] \rightarrow S' \rightarrow Z[n]$  Is  
 $Z[n] = \sum_{k=n-n}^{n+n_{0}} \chi[k-l]$   
 $f_{k=n-n_{0}}$   
change of variables:  $k' = k-l$   
new limits:  
 $n+n_{0} = \sum_{k=n-l}^{n+n_{0}} n+n_{0}-l$   
Substitute:  $k=k'+l$   
 $n-n_{0} = \sum_{k=n-l}^{n+n_{0}} n-n_{0}-l$   
Substitute:  $k=k'+l$   
 $Z[n] = \sum_{k=n-l+n_{0}}^{n-l+n_{0}} \chi[k']$